e .
- =UA |
— =N
— ==
ARV Ry B
=R
-lnal=

O

EET BAEERE (A) t xB C P BRI b H
50A 59 2.3%x25 45 20 M6 x 20 71
65A 14 2.3%x25 45 20 M6 x 20 84
80A 84 2.3%x25 45 20 M6 x 20 89
100A 109 2.3%x25 45 20 M6 x 20 102
125A 134 3.2x32 55 25 M10 x 20 125
150A 159 3.2%x32 55 25 M10 % 20 144
B |[RE &% —. —
AT UL RAEEFRIL/ NV BN
IR <
HE SUS304 REL RE 1.9
T C T ¥E fik
E=AK
RevNo.
HE 10130010287 AN
SHEET
NICHIE] =4 ,r S, 7 ** —t’ A *i s p
INTEC HXRA2TY = EMERE | A3




